20 =8, 70 =343 A uf, b—a O] GLE Totoda},

YEE
=%



@ 25, 52



3.

2 % Al 5108, 144, 162 °] FFpE?

© 2% x3? @ 22x5

@ 2x%x33 B 22x3

@ 2x32






5. Al AAS15, 20, 24 9] o] A0 R Yol o] Hojx]= Ap
oM 7P A2 5 ot

@D 15 @ 80 3 120 @ 164 3 210



o] Htgef7h 9 ola, 5o] 810 A uf, o] F ] Hag



o0& 3 71545

El
ral
lo
Hu
8o
N
G2
rlo
N
rlo

D 3x3x3x3=23%
@ 5x5x5=53
® 3x3x5x5x7T=232x52x7

@ 3+3+3+3=3"
2x2x2 23

& — ==

Ix3x3 33



8.

e % 87

oA
rlo

AL

@ 10 oJste] A4 B5F 4 Ffo|tt,
@ 172 2%o|t}
@ 1S A9g RE &5 agolt},
@ 2= AZo|t},

AZ=0] ok~ 9 Fo|t},



9. 3x52x20 9 k50 ATt 72 A o, x S Fotoiat,

>R
=%



10. ©e [ |ote] EolZ 4= AR 1E ALY

(1) 22x3,2x3%2x 52,22 x5x 7 9] XjzF
(L) 2x5%x7,23x3x52,22x5% o] -5

@ 2x3,22x5 ® 2,2x3
® 2x3x5,2x%x5 @ 2,2x5

® 2x3.2%x7







12. A 58 A9k 2 104 A2 2 4 9 2 Be o)A B
Uirol 20, A3l 2 A0t 250l B 6 A0t REohda et
olu], 4 42 Falolat.

YR 3



13.

z]-L-0] 9t 2144 0] 7}
AR}, o]} e &
=52 = o, A20]

D330EE @58

L= 5k vH
2o

2 Zdrde

)
re,
o
Ir g

B 60

@ 80 E

B 90 HE



14.

T A5 27 x 30 x5 % o xc? 9 AN BRI 3 x5, 2B}
2 x 34 x 52 A Wla, b, c o P& AR FHHR? (Fa<b<cel

22

@ 2, 3,4 @ 2,3,5 ® 3,4, 5

@ 3. 4. 7 ® 4.5 7



15.

ZHAZ= 360 x n ©] ZAAG0] AlFo] Ak g w, o] F 4 3
BT SIS (P, 2 160 WITH] AFASolTh)

o e
o e

YEE

sy
1

A

flo



16. 22x5x7 9 of2l ZAL29

@ 2x3 @ 22x7

@ 3x5%7 B 22x5%x7



@ 24
B 34 %73



18.

72 o] Zol, M29] Zdo], &o]7t Z+2} 54cm, 90 cm, 108cm Q1 2]
SHA| B FAE 277 E2 BAEHA HAAER RIE§lo]l A4
21 gk ASAAE R AA AREst AL & o, S HA O]
7H/\1_.r)

@D 180 7 @ 90 7H ® 36 7l

@ 24 7§ ® 15 7}



19, A4 204 o 4] b 12 1) o A ke o) Al
Fafoler,

D 11 ® 12 3 13 @ 14 ® 15



20. 300 oJste] Ak F 12 9] =2 15 9 Hj~E Al @)t = BT 2
NAA] stodet.

B
ct



